Multiplication par Puissances de Dix (H)

Trouvez chaque produit.

22x%X0,01= 54 x1=
10 x 10 = 53 x10=
34x01= 97 X 100 =
46 X 100 = 61X1=
13 x 0,001 = 52x1=
11 x 0,01 = 78 X1000 =
45 x 10 = 29 x 1000 =
68 X 10 = 11 x 100 =
12x0,1 = 55x10=
84 x0,1= 100 x 10 =
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Multiplication par Puissances de Dix (H) Solutions

Trouvez chaque produit.

22x0,01=0,22 54 x1=54

10 x 10 =100 53 x 10 =530
34x01=3,4 97 x 100 =9700
46 x 100 =4 600 61 x1=61

13 x 0,001 =0,013 52x1=52

11 x 0,01 =0,11 78 x1000=78000
45 x 10 =450 29 x 1000 =29 000
68 X 10 = 680 11 x100=1100
12x0,1=1,2 55 x 10 =550

84 x0,1=8,4 100 x10=1 000
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